eXplore Cyl0n,)

For additional
information, scan the QR @ @

code: !
Fiir weitere Informationen,

verwenden Sie den QR Code: @

Wips:fjar<iion com/tplore

195.6 mm (7.77)

20.5mm (0.8") 154.6 mm (6.1") 3.8 mm (0.17) 188 mm (7.4")
£ i
— 1 “a
SiE Sei
S ~
3 ! 3
~ El— [u] £
£l El@ = £
© (=] - o
N 2
©
3 —
~ E ‘ 603 mm |, 75mm
g g (2.47) (3")
£
P =
o 5
-
a. .
— 276.0 mm (10.9") 44.0 mm 188 mm (7.4")
(a'4 . 217.4 mm (8.6") |
O 3 i
(%2 —
L .
ﬁ[ N
O P
e E
ﬁ S
@) 58
z —
(o ¥
T L
&= 100.5 mm (4.") 75 mm (3")
) EL | I
£ & e =
o) B o0
E | © Bl =5 0 o3
2
o

Electrical Connections
The eXplore device requires the following electrical connections:

=l =

T G LAN (Ethernet) Port Power input (12 V DC 2 A)

BDS0025 rev 4 ©2019 Cylon All Rights Reserved.  Subject to change without notice WWW.XVY‘I%VI:II:%\{JLT%\II\./ICSI'“IQIX.COM page 1of 2

T (167 1

(37



/.

<
o
(=
7
o
O
2]
L
(]
-
O
2
o
®)
(2 4
o

Mount the eXplore device so that its front side is against
the front of the panel door, and the body is passing through
the hole cut in the door.

Mounting Options

Panel Mounting

A Panel Mounting plate and 4 fixing screws are included
as standard in the eXplore kit.

eXplore

Panel door

’ Panel Mounting plate

Q M4 screws

Mounting procedure

Cut a rectangular hole 190 wide long by 115mm high hole in
the panel / cabinet door.

190 mm

a Place the back plate against the back of the eXplore unit
' and re-insert the 4 x VESA 75 screws.

B

Panel door
0 ° 4 x VESA 75 screws (included in packaging)

118 mm
(@)

0 Hole to be cut out

o M4 mounting screws

Tighten the M4 mounting screws ° on the bracket to apply
appropriate pressure to secure the device against the panel door.

eXplore-C10 eXplore-C7

4 x VESA 75 screw holes (4 x M4 screws included in
packaging)

Wire up Power and Ethernet connections.

BDS0025 rev 4 ©2019 Cylon All Rights Reserved.  Subject to change without notice WWW.XVYY\(I)VILIL(IE\{JLTOONI\'IICBT“I{IIX.COM page 2 of 2



	Electrical Connections
	Mounting Options
	Panel Mounting
	Mounting procedure



